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CLASS-3 SAMPLE QUESTION PAPER

The Actual Question Paper Contains
40 Questions. The duration of the
Test Paper is 60 Minutes.

Which of the following device is used to store infor-
mation?

(A)

None of these

(E)

A computer is a powerful machine. Which of the

following is NOT a feature of computer?

(A) High speed (B) High reliability
(C) Huge storage (D) High cost
(E) None of these

I am not afraid of a cat, sit on a mat, have a long tail
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The first electronic digital computer contained?
(A)
(B)
D)

and can send e-mail. I am
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None of these

D)

(E)

Electronic valves
Transistors

©

Semiconductor memory (E)

Vacuum tubes

None of these

Which statement is not correct?
(A) A computer never thinks on its own like a

human being.

(B) Computer lacks imagination and humour as
compared to human.
(C) A computer is useless without instructions.

(D)
(E)

A computer can teach us humanity.

None of these

6.

10.
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Keyboard, Mouse and Monitor is a part of computer.
(A) (B)
(© (D)
(E)

software
Can’t be said

Hardware
Both (A) and (B)
None of these

I am a device like a mouse. Instead of having a ball at
the bottom, I have a ball at the top.

(A) & (B) ‘
© ’ © R

(E)

None of these

Which one of the following is NOT a navigation key
on the keyboard?

Page
®  (Bown ® |55¢
Page
(C) | End (D) (Up

None of these

(E)

Which of the following is a toggle key?

Caps Lock
(A) (B)

ﬂ} Shift

Alt Esc

(© (D)

(E) None of these

What are the three items usually found on a mouse?
(A)
(B)
©
(D)
(E)

Arrow, left button, and right button

Scroll wheel, left button and right button
I-button, scroll wheel and left button
Arrow pointer, left button and right button
None of these




